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1.  Choose the correct answer . 1x6=6

(a) The Dunkel Draft of GATT was associated
with the—

(i) Uruguay Roimd
(ii) The Doha meet

(iii) Cancun round

(iv) None of the above.
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(c) The Policy of Free trade means—

)

() - Protectionist trade barriers are a
m1mmum :

{ u) Loﬂdon

(i) Goods are exchanged for gOOdS | _Hampshlre U.S.A.

(iii) New

(ii)) Goods are exchanged for free,

(iv) All of the above,
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(d) Economic integration is formation of_
LA G Ans get ?

(a) What
(b ~Gige PO

() Regional trade ‘blocks.

(i) Customs Union,

(iii) Free trade area. © What do'you mean i
- v De-licensiis -
.(l'v) All of the above. @ What is. meant bY T 8
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(@)  What are the broad o
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Swey any five from the follow (g
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tocess of Globalization started with
" has been the advantages and

. - y ? |
hat is meant by foreign aid ? Why does
ndia have to depend on foreign aid ?

a' has been a founder member of t

ERD What are the areas or projects i
- which it has been able to help India ?

What do you mean by business

environment ? What are the different
components of business environment 7

What is FDI and Portfol_ioinveshnent ? How
have they helped India ? 3

Give a brief anaiysis of the problenis of small
and medium scale industries in India,
especially post 1991.

[ndia’s Balance: of Payments has always
recorded a deficit in the current account.

What are the main causes responsible for

this deficit _?
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lustrial Policy of 1991. What do you

vantages of globalisation for the Indian




